y=ax

2

F

W XD % 77 71 b OBBOX % Kk R X,

/8

Ay Ay Ay Ay
@ \ j @ 3 0 q \ I ORSEE 0 >
15 o 15 -
'L / 15 \ { 15 \\
O » 0 L
A A A A
® ’ ® [ ds ok o sy 1
15 "] r 15,
. 15 / 5 1Y
0 > =5 0 |




. 5 4 LA T}
y=ax
/8

B XD E 77 71 b DB RX 2 KD 7 X,

@ \ Ay j @ 1 OAy I @ \ Ay I @ 1 OAy i
tH o > / \ tsH o > / \
y=ax*t 35 & y=ax*t 35 & y=ax*t 35 & y=ax*t 35 ¢&
H(3,15) % HQ,-2)% H(2,10) % HG,-12)%
HoTWBE DT, HoTW5B DT, HoTWB DT, WoTWB DT,

15= 9a —2= 4aqa 10= 4a —12= 9a
-5 1 _5 _ 4
a=- a 2 a=- a 3
5 5 4
y—?x2 y=-—5x )1—7952 y——?x2
@ Ay @ 1 OAy i @ . Oﬂy L Ay
SE 0 > / \ =5 0 >
y=ax’t 3 5L y=ax’t35¢ y=ax’t 3 5L y=ax*t 3 5L
(3, 6)% HE, - H2,—-6)% H(5,15) %
WoTWB DT, HoTWB DT, o T3 DT, Wo T3 DT,
6= 9a —1= 4aqa —6= 4a 15= 25a
_2 _ __3 _3
a=7 a= a= -7 a=—
2 3 3
y=?x2 y=—zx2 y=-—5x y=?x2




